
№п/п ФИО Группа
1 �лекE4=дDо6 �4кE8< �лекE4=дDо68ч 7D. 315

2 �=дDее64 �8=4 �лекEее6=4 7D. 1013

3 �пок8=4 �=то=8=4 �лекE4=дDо6=4 7D. 815

4 �Dте<е=ко �=4Eт4E8O !еD7ее6=4 7D. 815

5 �458ч �64= �е==4дPе68ч 7D. 913

6 �еEтеD К8D8лл �8кол4е68ч 7D. 1311-к
7 �8к5ул4то64 КEе=8O �лекEее6=4 7D. 711

8 �о5о6 �лекE4=дD �лекE4=дDо68ч 7D. 1115

9 �од=4D �ле=4 �лекE4=дDо6=4 7D. 815

10 �одOко !оD8O �лекEее6=4 7D. 315

11 �Dед8E8= �OчеEл46 �8E49ло68ч 7D. 1117

12 �уко6Eк89 �Dте< �лекE4=дDо68ч 7D. 313

13 �о6к �7оD �8т4лPе68ч 7D. 1117

14 �4=6ул4 /=4 �8т4лPе6=4 7D. 711

15 �елPFеD �4DPO !еD7ее6=4 7D. 1217

16 �е=еD4ло6 �67е=89 Ко=Eт4=т8=о68ч 7D. 1115

17 �е=еD4ло6 �4кE8< Ко=Eт4=т8=о68ч 7D. 1115

18 �л4дк4O �8ктоD8O �=дDее6=4 7D. 1213-к
19 �луEо64 !=е64=4 !еD7ее6=4 7D. 1311-к
20 �о6е=ко �<8тD89 �е==4дPе68ч 7D. 1015

21 �о=е5=8ко64 �ол8=4 �8т4лPе6=4 7D. 813

22 �о=т4DP �4D8=4 �4кE8<о6=4 7D. 315

23 �оD5е=ко �Eе6олод �<8тD8е68ч 7D. 1219

24 �D87оDо68ч �лекE4=дD �67е=Pе68ч 7D. 219

25 �D87оDPе6  од8о=  о<4=о68ч 7D. 813

26 �Dо<о6 <4кE8< �=дDее68ч 7D. 1013

27 �у54=о6 �8E48л �лекE4=дDо68ч 7D. 219

28 �уE4ко6 �8к8т4 �8т4лPе68ч 7D. 1219

29 �е<че=еко �4де6д4 �=дDее6=4 7D. 1313-к
30 �е<че=ко ЛN5о6P �=дDее6=4 7D. 1017

31 �Dо=о6 �4E4D �лекEее68ч 7D. 313

32 �уD546е64 КEе=8O �лекE4=дDо6=4 7D. 813

33 �уD46ле64 �л8E4 �4E8лPе6=4 7D. 813

34 �49че=ко �4леD8O �46ло6=4 7D. 813

35 �4толок8= �4=88л �8кол4е68ч 7D. 1219

36 �олотуE8= �Dте< .DPе68ч 7D. 1115

37 �у5ко6 /DоEл46 �=дDее68ч 7D. 315

38 �7=4те=ко �=7ел8=4 Эду4Dдо6=4 7D. 813

39 �ще=ко �D8=4 �8кол4е6=4 7D. 813

40 К=O7Pко6 �л4д8<8D !еD7ее68ч 7D. 1015

41 Кол<Oко64 �л8746ет4 �лекEее6=4 7D. 219

42 Коло<оеF �л4д8Eл46 .DPе68ч 7D. 1219

43 КоDоле6 �8к8т4 �=4толPе68ч 7D. 1013

44 КоDOк �лекE4=дD �лекEее68ч 7D. 1311-к
45 КотлODо6 �е=8E  о<4=о68ч 7D. 1313-к
46 КD46че=ко  уEл4= �4E8лPе68ч 7D. 913

47 КDNко64 �=4Eт4E8O !еD7ее6=4 7D. 919

48 Куле64 �4D8O �л4д8<8Dо6=4 7D. 711

49 Кул8к �67е=89 !еD7ее68ч 7D. 1117



50 КупD8O=Nк !т4=8Eл464 !еD7ее6=4 7D. 1313-к
51 КуD4че6 �лекE4=дD �OчеEл46о68ч 7D. 1017

52 Ло5о64 �Eе=8O �4леDPе6=4 7D. 315

53 Локт8=4 �к4теD8=4 .DPе6=4 7D. 815

54 Локт8=4 �4де6д4 .DPе6=4 7D. 815

55 �474чU6 �8к8т4 �лекE4=дDо68ч 7D. 1217

56 �47уDо64 �8ктоD8O �л4д8<8Dо6=4 7D. 813

57 �4Eо6Eк89 �67е=89 !еD7ее68ч 7D. 1017

58 �о78л4 Л8O !еD7ее6=4 7D. 1313-к
59 �оDо7 �к4теD8=4 �лекE4=дDо6=4 7D. 1219

60 �удDO9 �лекEе9 !еD7ее68ч 7D. 1115

61 �еделPко �4DD8 �лекE4=дDо68ч 7D. 1217

62 �еEтеDе=ко �DEе=89 �лекEее68ч 7D. 217

63 �8к8т8= �Dте< .DPе68ч 7D. 1013

64 �еDеп8ч49 �4DPO �лекEее6=4 7D. 913

65 �8E4Dе6 �4т6е9 Оле7о68ч 7D.  1017

66 �л4чко6Eк89 �4=8л4 �67е=Pе68ч 7D. 1017

67 �л8т8=P �4=88л !еD7ее68ч 7D. 1219

68 �DоD4т8ло �л4д8Eл46 �67е=Pе68ч 7D. 919

69  O6е=ко64 �==4 �лекE4=дDо6=4 7D. 913

70 !8доDо64 �дD84=4 �=дDее6=4 7D. 1311-к
71 !л864 �8E48л �8E49ло68ч 7D. 1017

72 !околPEк4O КD8Eт8=4 !еD7ее6=4 7D. 813

73 !то65у= �лPO �лекE4=дDо68ч 7D. 919

74 !Oче64 �=4Eт4E8O �8E49ло6=4 7D. 911

75 Тк4че6 К8D8лл �<8тD8е68ч 7D.1115

76 ТоDопо64 �D8=4 �4E8лPе6=4 7D. 313

77 $8ле=ко �Dте<  о<4=о68ч 7D. 913

78 %4=68O= �<8тD89 �67е=Pе68ч 7D. 219

79 %4Dче=ко �лPO �46ло68ч 7D. 913

80 %о5т4 �лекE4=дD4 �8кол4е6=4 7D. 813

81 'еD=O6Eк4O �D8=4 !еD7ее6=4 7D. 1217

82 (е6Fо6 �8т4л89 �е=8Eо68ч 7D. 1115

83  86к8=4 �==4 !еD7ее6=4 7D. 313

84 .Dче=ко $4де9  о<4=о68ч 7D. 1213-к


